
3

3. 1

3,000 1-2

2 4 2

2550 2551 (graintier)

6

2 4 1.2 3 1

 (analysis of variance)

 (comparison of means) Least Significant Difference (LSD) 

95

DK 888 1,000 6

4x4

1x1 2551

2552  750 

10  ( 3.1) 1
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40 Mesh

 (analysis of variance)

(comparison of means) Least Significant Difference (LSD) 95

3.1

3.2

6

Flinn (2008) 

30 75

13

Brewer’s yeast 300

Brewer’s yeast ¼ 5

910 8

7 6 5 4

3 2 1
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40 Mesh 

30-35

2

DK 888 

0 3

200

200  ( 3.2) 2

164  ( 3.3) (
40 Mesh) 6 ( 3.4)

( 40 Mesh) 15.5

3 6  (
, 2544)

3.2 200  (

 164 6 )
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3.3

3.4

250

9 9.5

3

 ( ) 6

1  ( ) 200

2 4 200

3 8 200

4 12 200

5 16 200

6 20 200

30 75
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 (Pestweb, 2008) 

3 6

 40 Mesh

        3.2.1 

200

(mortality) =                            x 100 

          +
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        3.2.2 

3.2.2.1

 ( , 2529)

1.

2.

3. 5 4

4. 130 16

5. 30

6.

7.

=  – x 100

8.

3.2.2.2

 ( , 2533)

= x 100 –
                100 
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        3.2.3 

(ISTA, 2003)

(ISTA, 2003)

3.2.3.1
(ISTA, 2003)

1. 200 4 50

2. (paper towel) 

3. 2

4. 25 95

5. 2 (first count) 4

(final count) 7

6.
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3.2.3.2
(ISTA, 2003) 

1. 50 4

8-16 25

   2.

 (bisect longitudinally) 

3. (staining)  (2, 3, 5-
triphenyl tetrazolium chloride bromide) 1 1,000

0.1

4.

0.1

30-40 30-60

5.

3.2.1, 3.2.2 3.2.3

(Factorial in Completely Randomized Design) 2

1 5

0 ( ), 4, 8, 12, 16 20 200 3

2 6  0, 1, 2, 3, 4, 5 

6
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 (analysis of variance)

 (comparison of means) Least Significant Difference (LSD) 

95

        3.2.4 count and 
weigh method

100

2

 (Adams, 1976)

% Weigh loss = (U Nd) – (D Nu) x 100 

        U (Nd + Nu) 

U = 

Nu = 

D =

Nd = 

        3.2.5 

agar method ( , 2538; , 2534)
1. 1:4 (volume)

5-10

2. potato dextrose agar (PDA) 10

3. (incubate) 5-8



30

4.

3.3

 Factorial in Completely Randomized Design 2

1 5

2 5 0, 1, 2, 3 4

2

2

5

1  ( )
2

3

4

5

0 3
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5 10

250

20 4 30

75 4

6

1           0
2      1-20

3    21-40   

4    41-60

5   61-80 

6    81-100

 (analysis of variance)

 (comparison of means) Least Significant Difference (LSD) 

95


